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232/3 - PHYSICS MARKING SCHEME PAPER 3

1. (a)
(b)
(c)
(d)
2. (a)

Table 1

PECRIS

Hole 1 2 3 4 5

Distance L(M)

Time for 10 oscillations

Periodic time T (S)

T(S?)

T2L (S*M)

L>(M?)

17 17 172 17 172

1

Total (9mks)

Expected graph

AT?L
Slope = 5
(i) AL (2mks)

Student must show triangle for finding gradient on the graph.

(i)  Y-intercept (1mk)
Value of K: Use the student values in c(i) and c(ii) above. (3mks)

o = 10cm

Table 2

Lem) [2 [3 T[4 |5 [e6 [7 18 9

x(cm)
1

L (cm™)

/s /s s s ) /5 /5 )
Total (4 marks)
- Values of ¥ must be upto 1d.p.
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(b)  Expected graph.
; Y4
Gradient = —
Ay .
() L (Triangle must be shown on the graph)
2
(d) L 1]
f is the gradient
Hence | = vSlope
Slope from the graph v'®
PART B
(i) E=15%£0.1v vO
(i) V=14+£0.1V vO
[=0.12A+£0.01A VO
(iv) E-V=Ir
0.1=0.12xr VO
0.1
r=——=0.83Q2
0.12 v O
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